
The elements fluorine chlorine and iodine are all part of the same blank on
the periodic table
They are all in the same family, also known as a group.  They're the same thing. Group......they're all in group 7
Which three types move blood through the circulatory system?
Drinks with high levels of carbohydrates can cause dehydration in hot environments. T F
Golddigger services inc. provides services to clients. on may 1, a client prepaid golddigger services $65,000 for 6-months services in advance. golddigger
services' general journal entry to record this transaction will include a:
A boy pulls a wagon full of newspapers down the sidewalk at a constant acceleration. Suddenly, half the newspapers fall off the wagon. If the boy continues to
pull with the same force as before, what happens? A.The net force remains constant.

B.The wagon suddenly speeds up.

C.The mass that he is pulling does not change.
Find the value of a in the equation
5/a + 3 = 3/a - 2
Involving the selection of frozen dinners. Assume that there are 15 frozen dinners: 7 pasta, 6 chicken, and 2 seafood dinners. The student selects 5 of them. What
is the probability that at least 2 of the dinners selected are pasta dinners?
Which of the following resulted from the policies of the Andrew Jackson administration
Because Canada is a parliamentary democracy, it's political leader
How to solve 50 is 40% of what number
A ________ is a microsoft office feature that walks you through steps to complete a complicated task.
Given g(x) = x^2 - x, find g (2/3).
What is the value of x. 6+(x-10)=5
Show your work Brianna spent her summer earning babysitting money. She gets paid $6 per hour and babysat for 125 hours. How much money did she earn?
6 years =______ hours (simplify your answer)
A box has dimensions of 14 inches long, 1.5 feet wide, and 7 inches high. What is the volume of the box? The formula for the volume is V = l ? w ? h. 1.02
cubic inches (in3)
12.25 cubic inches (in3)
147 cubic inches (in3)
1764 cubic inches (in3)
How many ways can the letters of the word organism be arranged so that the third letter is G
What two fractions are equivalent to 42/70



Mona Persian is considering a new investment fund with a semiannual interest rate of 2.5%. Any money she invests would have to be left in it for at least five
years if she wanted to withdraw it without a penalty.a)What is the nominal interest rate?b)What is the effective annual interest rate?c)If Mona deposits $10,000
in the fund now, how much should it be worth in five years?
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